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1. Overall Description:

SA 2 has received the LS from CN 4 in S2-01-2721 (N4-01-1235). 

SA 2 is of the strong opinion that the Cx interface should be an open interface that fully supports multi-vendor procurement of (at least) HSSs, I-CSCFs and S-CSCFs.

With regard to CN4’s specific questions:

1. a) What should happen if no S-CSCF is available which meets the [mandatory] capability requirements requested by the HSS? 


Answer: It is the role of the operator to ensure that there are S-CSCFs which meet the “mandatory” requirements indicated by the HSS. 

However, configuration errors may occur. It is imperative that when these errors do occur, that the operator is rapidly informed of this by the I-CSCF (this may be a task for SA 5).

In addition, the I-CSCF should still select the ‘best fit’ S-CSCF. It is acceptable to SA2 that the algorithm to determine the ‘best fit’ is specific to the implementation of the I-CSCF.  This will provide better user service experience than the user receiving a ‘no service (no S-CSCF) available’ indication

b) Is there a requirement to standardise a mechanism, which enables the HSS to indicate whether a service capability is optional or mandatory? 


Answer: This would be a useful feature, especially, for example, for the introduction of trial services. If necessary, the handling of “optional” capabilities can be postponed for a future release. However, if this is postponed, the R’5 solution shall anticipate its introduction in a future release.

c) However, if a S-CSCF is allocated to a subscriber which cannot meet all the service requirements then is there a requirement to indicate to the subscriber which services are available?


Answer. No. This is an error situation which should be resolved by the I-CSCF informing the operator. While the operator is fixing the problem, there does not seem to be any need to alarm the customer (eg during this time period, the customer might only request services that are supported by the allocated S-CSCF).

2. a) How should the I-CSCF maintain a correct view of the capabilities of the available S-CSCFs in the network? 

Answer: This is a configuration task for the operator.

b) Should this be a vendor specific mechanism or should a mechanism be standardised to assist multi-vendor interworking in this respect?


Answer: Full multi-vendor operation (for S-CSCFs with different capabilities) is required (eg the case of HSSs supplied by vendors A, B and C; I-CSCFs from vendors D, E, F and S-CSCFs from vendors G, H, I shall be supported).

2. Actions:

For CN4: Hopefully these answers are of use to CN 4.

For SA5: Can SA5 please ensure that the I-CSCF generates the indications described in the answer to 1a above?
3. Attachments:

None.
